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Directions :

The following four 4 ) items consist of two statements,
one labelled as the ‘Assertion (A)' and' the other as
‘Reason (R)". You are to examine these two statements
carefully and select the answers to these items usmg the
code given below :

(a) Both A and R are individually true and R is the -

correct explanation of A
* (b) Both A and R are individually true but R is not the
correct explanation of A
(c) A is true but R is false
(d) A is false but R is true

Assertion (A) : The number of triangles that can be

formed by j )ommg the mid-points of any three adjacent -

faces of a cube is 20.

Reason (R) : If there are 1 points on a plane and none
of them are collinear, then the number of triangles that
can be formed is C (1, 3). -

Assertion (A) : The number of selections of 20 distinct
things taken 8 at a time is same as that taken 12 at a
time. -

Reason R): C(n,v)=C(n,s),ifn=r+s.

Assertion (A) : 1/8, log;24a, log, # are in GP but not in’

AP

Reason (R) : x, y, z are in AP as well as in GP if
x=y=1z

Assertion (A) : 1f Z,=3+\-4, and Z, = 3+J‘" 25, 21/Z,
is a complex number.

Reason (R} : If Z1,Z, are complex numbers, then

Zy/Z, is always a complex number.

An aireraft has three engines A, B and C. The aircraft
crashes if all the three engines fail. The probabilities of

failure are 0.03, 0.02 and 0.05 for engines. A, B and C .

respectively. What is the probability that the aircraft will
not crash ? .

(a) 0.00003 (b) 0.90

(c) 0.99997 (d) 0.90307

A coin is tossed three times. What is the probability of

getting head and tail (HTH) or tail and head (THT)

alternately ?

(a) 1/4 (b) 1/5

(c)1/6 (d)1/8

The probability that a student passes in mathematics is

4/9 and that he passes in physics is 2/5. Assuming that

passing in mathematics and physics are independent of

each other, what is the probability that he passes in

mathematics but fails in physics ?

(a) 4/15 (b) 8/45

() 26/45 (d) 19/45

From a pack of 52 cards, two cards are drawn, the first

being replaced before the second is drawn. What is the

probability that the first is a diamond and the second

is a king ?

(a) 174
) 4/13

10.

11

12,

13.

14

" 15

16.

What is the probability of having a knave and a queen
when two cards are drawn from a pack of 52 cards ?
(a) 16/663 (b) 2/663

(c) 4/663 (d) 8/663

Consider the following statement :

“The mean of a binomial distribution is 3 and variance
is4.”

Which of the following is correct: regarding this
statement?

(a) It is always true

(b) 1t is sometimes true

(c) It is never true

(d) No conclusion can be drawn

In throwing of two dice, what is the number of exhaustive

_events ?
{a) 6 (b) 12
(c) 36 (d) 18

‘If from the point of intersection of two ogives, a

perpendicular is drawn on the x-axis, what does the
x-coordinate give ?

(a) Arithmetic Mean (b) Mode

(c) Median (d) Geometric Mean

The marks scored by two students A and B in six subjects

- are given below :

Al 7 | 56| 6 | 8 | 54l s
B |55 | 74 | 8 | 5 | 38 | 5

Which one of the following statements is correct ?
(a) The average scores of A and B are same but A is
consistent

. (b) The average scores of A and B are not same but A

is consistent
(c) The average scores of A and B are same but B is
consistent

(d) The average scores of A and B. are not same but B -

is consistent

Consider the following statements :
1. Equations ax+by+cz+d=0, ax+by+cz+d =0

represent a straight line.
2. Equation of the form

x-o_y-B_z-y
l mon

represent a straight line passing” tuough the point
(0, B,%) and having.direction ratios proportional to /, 1,
n
Which of the statements given above is/are correct ?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
If the centre of the sphere
o b P20+ 4y +22-3=0 is (1/2,-1,-1/2),
what is the value of b ?

(@1 (b) -1

()2 (d) -2

What is the length of the perpendicular from the origin
to the plane ax+by+‘/2_a§z=l ?

(a) 1/(ab) (b) 1/(a + b)

(a+b (d) ab
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17.  What is the equivalent definition of the function given ~ 28. Given that tan®=m#0, tan26=n#0 and
by tan 6 + tan 26 = tan 36, then which one of the following
2x,x20 is correct 7 -~
f(x)={ 0,x<0? (@ m=n (:)m+n=1r
@) fo)= Izl () fo=2x ©m+n=0 (d) mn=-1 ‘
© f)=Ixl +x (d) fx)=2 Il ©29, LetAandeeobtuseanglessuchthz;tsmA:#Sand
. . . 1 cos B=-12/13. What is the value of sin(A+B) ?
18, If f:R— R" such that f(x)=(1/3), then what is f"(x) (a) -63/65 () -33/65
equal to ? (c) 33/65 (d) 63/65
(a) (1/3) (b) 3" 30. For what values of 2 does the equation
() logisx (d) logy (1/3) cos 2x+asinx=24-7 possess a real solution ?
in 5x (a)a<2 b)a28 .
19.  What is the value of lim 225222 i i -
0 sin?dx (©)a>8 . (d) a is any integer <~2
@0 M54 ©5/16 @25/ 31 1ftan® B=1=SB4 then what is the value of A+25 7
20, Iffimy=Q1 +x)5/" is continuous at x =0, then what is the (a) w2 () /3
value of f0) ? () n/4 (d) nf6
@0 )1 © @ e 32, What are the values of (1, y) satisfying the simultaneous
21.  Consider the following statements : equations sin x+sin” y=2n/3 and
1. The function f{x)= greatest integer <x, xe R is a . cosx—cosy=m/3 7 ’
continuous function. . (a) (0 1) y= ’ (b) (1/2 1)
2. All trigonometric functions are continuous on R. © (1’ 1/2) @ (@/’2 1)
Which of the statements given above is/are correct ? T Y ' .
(a) 1 only (b) 2 only 33. legn th:\t cos 20° —sin 20° = p, then what is the value
(c) Both 1 and 2 {d) Neither 1 nor 2 of sin 40 ? \
22, Which one of the following statements is not correct ? @) 12‘ 14 ®)1+p
(a) The derivative of f{x) at x =a is the slope of the graph ©)p (d) pz -1
of f(’g at the point [ﬂaf('{)] ' _ ‘ 34, If the perimeter of a triangle ABC is 30 cm, then what
®) '{f‘x )‘ a5 Zsp:si;?c‘;:aseesrlf‘rlztr:?a’at x=4 means fiz) is the value of 4 cos® /2 +c cos® (A/2)?
(c) The sum of two differentiable functions is (@) 15 cm (b) 10 cm
differentiable . (c)15/2em (d) 13 em _
() If a function is continuous at a point, it is also 35 In AABC, if £A:/B:£C=1:2:3, then what is
differentiable at the same point BC:CA:AB? P
‘ (a)1:2:3 b)1:V3:2
23. What is the derivative of f(x)="V - with respect to (©,2:V3:1 @¥3:1:2
8(x) =sin"' z, where lx| #1? 36. The angle of elevation of the top of a pillar of height h
p p
(a) x (b) -x at a point on the ground at a distance x from the pillar
X __x is 30°. On walking a distance ‘d ’ towards the pillar the
© @ ng P
1-2 1-9 angle of elevation becomes 60°. Then, which one of the
24, What is the derivative of i:;“;“_";‘i fs correct ? o) x=32
(108tan x €Ot ) (10cot tan 1) at x =14 ? () x=5d/ () x=2d
@) -1 ®) 0 ©1 @) 1/2 )
. . . . 37. If sin® and cos © are the roots of ax”+bx+c=0, then
25.  Which one of the following statements is correct in constants 4, b, ¢ will satisfy which one of the following
respect of the curve 4y - #-8=07 conditions ? ’ '
(a) The curve is increasing in (-4, 4) 2,42 _
(b).The curve is increasing in (- 4,0) @ az * :2+ 2ac=0
(c) The curve is increasing in (0, 4) (b) “2 + - 2ac=0
(d) The curve is decreasing in (-4, 4) (©a"-b"+2ac=0
26. What is the minimum value of px + 4y (p > 0, > 0) when (d) -a? +b* +2ac=0
xy= 27 ) 38. The angle of elevation of the top of a tower EF (F being
(@) 2rVpg ®) 2pgVr the foot of the tower) as seen from a point A which is
_ on the same level as F, is 0. Onadvancing towards the
©-2rpg () 2mpg . ) foot of the tower the angle of elevation of the top of the
27. Let 45°<6<90° If tan @+ cot@=(tan8) + (cot8)' for tower as seen from a point B such that AB=y, is B. If

some 722, then what is the value of sin 8.+cos 6 ?

BF =y, h is the height of the tower and o+ B =7/2, then

\z 1 which one of the following is correct ?
@ (b)vz- (a) h2=x2+xy (b)h=y2+::y2
(B+1) 2 2
© , O 7 (© K=y +xy (d) h=y+2y

2
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39.

40.

41.

42,

ey

4,

45.

46.

47.

48.

What is the image of the point (2, 3) in the line y=-x?
(@) (-3,-2) b) 3,2

(c) (-2,-3) (CIREW)

If x+1,4x+1, and 8x+1 are in geometric progression,
then what is the non-trivial value of x ?

@) Il (b) 11

©F @7

The maximum three digit integer in the decimal system
will be represented in the binary system by which one
of the following ?

(a) 1111110001 (b) 1111111110

(c) 1111100111 (d) 1111000111

What is the difference between the smallest five digit
binary integer and the largest four digit binary integer?
() The smallest four digit binary integer

(b) The smallest one digit binary integer

() The greatest one digit binary integer

(d) The greatest three digit binary integer

Let z=i3(l+z) be a complex number. What is its
argument ?

@n ® %
T : 5n
©-3 @7

The .equation (2 + P2 -2b @+c)x+(+ A=0 has
equal roots.Which one of the following is correct about
a,band ¢?

(a) They are in AP

(b) They are in GP

(c) They are in HP : '

(d) They are neither in AP, nor in GP, nor in HP

Let z; and z; be two non-zero complex numbers such
that : ‘

1 1
Izl =lzyl = P fzz =2,
What is the value of 1z; +2! ?.
- (@8 (b) 4
()2 @1

If F(n) denotes the set of all divisors of 1 except 1, what

is the Jeast value of y satisfying [F(20) n E(16)] ¢ Fy)?

(@1 b2 . ©4 @38

On the set Z of integers, relation R is defined as “a R

b a+2b is an integral multiple of 3”. Which one of

the following statements is correct for R ? .

(a) R is only reflexive

(b) R is only symmetric

(c) R is only transitive

(d)R is an eqlfivalence relation

For non-empty sets A, B and C, the following two

statements are given :

Statement P : ANnBUO=(ANBUC

Statement Q': C is a subset of A

Which one of the following is correct ?

@ PeQ

() P Q

(©P=Q

(d) Nothing can be said about thé correctness of the
above three with certainty

49.

50.

51,

52, -

3.

54.

55.

IfX:{x:x>0,x2<0}, and

" Y= ({flower, Churchill, moon, Kargil), then which one

of the following is a correct statement ?

(a) X is well defined but Y is not a well defined set
(b) Y is well defined but X is not a well defined set
(c) Both X and Y are well defined sets

(d) Neither X nor Y is a well defined set

Consider the following for any three non-empty sets 4,
Band C:

LA-BuUO=(A-BuUA-0)

2.A-B=A-(ANnB)

3.A=(AnB)U(A-B) .

Which of the above is/are correct ?

(@) Only 1 (b)2and 3

{c)1and 2 (d)1and 3

If p" term of an AP is 9, and its 4"
is the common difference ?

(@)-1 ()0 @2
Consider the following statements :

There are infinitely many rational numbers between two
distinct )

1. integers.

2. rational numbers,

3. real numbers.

Which of the statements above are correct ?

(a) Only 1 and 2 (b) Only 2 and 3

(c) Only 1 and 3 (d1,2and 3

What does the shaded region represent in the figure
given below ? ’

term is p, then what '

@1

@ PuQ-PnQ
© PnQ)N(PAR)

b) PAQUR
@ PAQuUEPnR)

If lim [MJ exists, then which one of the following is

X—a g(x)
correct ?
(a) Both lim f(x) and lim g(x) must exist
xX=a X—a
(b) lim f{x) need not exist but lim g(x) must exist
X=a X—a
(c) Both lim f{x) and lim g(x) need not exist
x—a x-a '
(d) lim f{x) must exist but lim g(x) need not exist
x—a x-a .
_) mx+1 x<n/2
Iff(x)_{sinxwt x>m/2

is continuous at x =7/2, then which one of the following
is correct ?

@ m=1,n=0 (b)m:”?"n
(c)n=m(§], (d)m:nzg
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56.

57.

58.

59.

60.

61,

62,

63.

64.

65.

5 > X
The above, curve shows the graph of 4* under which
one of the following conditions ?

(@)a21 b)a>1
() 0<a<1 () 0<a<l
What is the derivative of cos™ (2cos x;r33sin x] ?
1 1
N2 U2
(©0 d)1
. - 7:
What is the derivative of f(x) =(_2;——1)x——Zx—+?) ?
-3 2 31
@+3? -1y @+3? @x-17
3 1 3 2
f— () —t——s
¢ @+3?% @x-17 ) (x+3% @x-17°

1
What is the value of [ (x-1) ¢ ™ dx ?
’ 0

@0 (b)e

(c) 1e (d) -1/e

If [sec xcosec xdx=log Ig(x)| +c, then what is g(x)
equal to ?

(a) sinxcos x ). sectx

(c) tan x (d) log Itan x|

What are the order and degree respectively of the

differential equation y= =x7 gy +

dy
@11 (b)l 2
©21 @22

What is the solution of ¥’ =1+x+ y2 + xyz, y(0)=0?

(a)y:\tan2 —J;EH: (b) y=tan’ (2 +3)
, ,
(c) y=tan (x2+x) (d) y=tan [%+x]

If a*=bW¥=c,*=a, then what is the value of

1 1 1.1 1 1
(xy +yz+zx)|x Y z
(@0 (b) abe
@1 (-1

If 2 =3Y = 12%, then what is (x +2y)/(xy) equal to ?
(@z () 12
)2z (d) z/2

If P+ bR+t 0, then what is
(a4 _ b")?’ + (b4 _ c4)3 + (c4 _ a4)3
( * bz)s + (b2~ c2)3 + ¥ az)a

equal to ?
(@) 2% (b) - 2%
(c) abe o (d) 32

66.

67.

68.

69.

70.

71,

72

73.

74,

75.

If A is a matrix of order p x4 and B is a matrix of order
sx t, under which one of the following conditions does
AB exist ?

(b) p=s

(@) p=t
(€ q=t ) q=s

If A is a square matrix such that A - AT =0, ﬂ}en which
one-of the following is correct ?

(a) A must be a null matrix

(b) A must be a unit matrix

(c) A must be a scalar matrix

(d) None of the above

What is the largest value of a third order determinant
whose elements are 0 or 1 ? '
(@0 ()1

)2 @3

If 4, b, c are in geometric progression and a, 2b, 3¢ are
in arithmetic progression, then what is the common ratio
rsuch that 0<r<1?

@31 ®)3
©3 OF

If a set X contains n (n>5) elements, then what is the
niumber of subsets of X containing less than 5 elements?

(@) C(n, (b) E(n, 5)
()):C(",f) ‘ dZCmr
r=0 r=0

Let z be a non-zero complex nymber. Then, what is
77 (multiplicative inverse of 2) equal to?

@< ok

Iz
1zl

z @

( —

Izl
For an AP with first term u and common difference 1,

the p'h term is 15 uv more than the qm term. Which one

of the following is correct ?

a)p=q+150 b) p=q+15u
(c)p=q+14v (d) p=q+14u

If 2, b and c are three positive numbers in an arithmetic
progression, then :
(a) ac> b
(c)ab+bc<2ac

o) >a+c
(d) ab+bc22ac

If fix)=log (1 } then what is f( -~ xz] equal to ?

@ (@ ®)1

1+x

(©) 240 @ f(
~1+i 1-i
1-i -1-i ' [+ -1+
(b)z
1-i 1+i i -1-d

1 1+1 1-1 ' 1+i 1-4
©y (d)
~1-i 1+1 Bl B A B

: 1+ 1+i
What is the inverse of A= ?

|

@)

Y.




UPSC NDA Exam 2006- IT Mathematics Solved Paper

JAGRAN

£ Jos

you gdl

76.

78.

81.

82,

In respect of the equation

2 3)(x| | 5

4 6lly| |c-5
correctly match List I with List II and select the correct
answer using the code given below the lists :

ListI ListlI
(Value of ¢) (Nature of the Equation)
5 1. The equation has no solution
B. 10 2. The equation has a unique
solution
C 15 3. The equation has an infinite set
of solqtions
4. The equation has two infinite
) sets of independent solutions
Code :
A B C
(@ 4 2 3
®) 1 1 3
© 2 2 4
d) 4 1 3
1 -2 .
FAl= what is det (4) ?
-2 2
(@2 (b) -2
©1 -1
2 2

From the matrix equation AB =AC, which one of the
following can be concluded ?

(a) B=C for any matrix A

(b) B=C, if A is singular

(c) B=C, if A is non-singular

(d) A=B=C for any. matrix A

abc

What is the value of [b ¢ af if #+5°+°=07?
cab

(@0 (b} 1

(c) 3abc (d) -3 abe

IfA-[O § is a 2x2 matrix anﬂﬂx):xz—x+2i5a

polynomial, then what is f{4) ?

@7 w3
@3¢ @2 S

If A'is a non-null row matrix with 5 columns and B is
a non-null column matrix with 5 rows, how many rows
are there in AxB ?

@1 (b) 5 ()10 ()25

Given that p=tana +tanf, and g=cot o+ cotf; then

what is |2 -1 equal to ?
P9

(a) cot (- P)
(c) tan (0 +B)

(b) tan (- )
(d) cot (. +B)

85,

87.

89.

91

92.

93.

94,

If two circles A, B of equal radii pass through the centres
of each other, then what is the ratio of the length of the
smaller arc to the circumference of the circle A cut off

“by the circle B ?
@3 : ®)3
©3 @3

A is a certain positive acute angle which satisfies the
following equation :

Number of degrees in A + Number of radians in.

A=(180+m)/3

What is the angle A ?

(a) 20° () 40° (c) 60° (d) 80°

The angles A, B, C of a triangle are in the ratio 2:5:5.
What is the value of tan B tan C ?

(a) 4+3 () 4+ 203

©7+43 {d)3+33

If sin 0+cos36=0, thien what is the value of 6 ?
(a) -m/ (b) 0

(c) n/4 (d) n/3

10 < x <y < m, then which one of the following is correct?
(@) x-cosx>y-cosy (b) x—cosx<y-cosy
() x+cosx>y+cosy  (d) x+cosx<y+cosy

1
1)m+1
What is the (m - 1) root of [(am)m - (’n?]];- ?

(a) am+(1/m) (b) a - (1/m)
(©)a @1
Let ABCD be a parallelogram whose diagonals intersect

at, P _and let O be the origin, then what is
OA + OB+ GC + OD equal to ?
(a) OF (b) 20
0% 36? (d) 40

If i, 1y, r,, t3 are the position vectors of three collinear
pomts and scalars m and n exist such that
T3=mi;+n 1y then what is the value of (m+n) ?
@0 b1 ©-1 d)2

Let o be the angle which the vector =2’f—'j\+ 2k
makes with the z-axis. Then, what is the value of

sino ?

(@) 2/3 (b)1/3

(©) V57 /3 @ 5/9

If &, &) T are three vectors, 0 is the angle between the

vectors & and & n, what is mnr cos 8 equal to ?
(@) @ ®D(PF) b @®-D)E
©@-B@ @) @ @D

If the vectors 1- 2x]-3yll\< and /1‘+3x/]’+2yﬁ are .

orthogonal to each other, then what is the locus of the

point (x, y)?
(a) A circle (®) An ellipse
(c) A parabola (d) A hyperbola

If the e comp ents of b along and perpendxcular to 2
are Aa’and b~ A2 respectlvely, what is A equal to ?

ab a b
(@ A (b) B
ab =5

IW
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95. A force ml}—3?+ % acts on a point and so the point ( 1+l 1
) moves from (20, 3m, 0) to (0, 0, 7). If the work done by a)p ' m + n
the force is —48 unit, what is the value of m ? 53
(a) 5 (b) 3 () pN@E +m’ £1)
(©2 @1 © pNE+m 41 G+l+-1-]
96. If we join the mid points of the upper horizontal sides mon
of each rectangle of a histogtam by straight lines, what ' ) 1 +_1_ +l
is the figure so obtained known as ? ;](12+ me)|l mon
F
8 or;%te?:)y curve 8)) Ig;?‘;er(\:)y polygon 107. How many arbitrary constants are there in the equation
?
97. A firm employing 30 workers and paying on an average ?af)azplane ) () 3
Rs 500 is combined with another firm employing 20 ©4 (d) Any finite number
workers paying on an average Rs 600. What is the . .
average pay of the workers of the combined firm ? 108. IfP, Qare (2, 5-7,63,21) respectively, then what are
(2) Rs 540 (b) Rs 550 the direction ratios of the line PQ ?
() Rs 60 (d) Rs 580 (@ <106, -16> By <538
98, The definition of Mode fails if : ©<5,-3,-8> . (d)-None of these .
(a) the maximum frequency is repeated 109. IfO, Pare the points 0,0, 0)(2, 3, -1) respectively, then
(b) the maximum frequency is not repeated what is the equation to the plane through P at right
(c) the maximutn frequency occurs in the middle angles to OP 7_
(d) the curve drawn with the help of given data is (a) 2x+3y +2=16 (b) 2x+3y -z=14
symmetrical (€) 2x+3y+z=14 (d) 2x+3y-z=0 ‘
9. The middle point of A(L, ) and B(z,y) is C, 4). 118D 110 The four points (0, 4, 1), (2, 3, -1), (4, 5, 0), (2, 6, 2) are
is perpendicular to AB such that CD = 3 unit, then what the vertices of which one of the following figures ?
is the length BD ? ' (2) Rnombus (b) Rectangle
(@) 22 unit (b) 2 unit (c) Square (d) Parallelogram
() 3 unit () 3V2 unit 111. If the letters of the word BAZAR are arranged in
100. If the points A(l, 2), B(2, 4) and C(@3, @) are collinear, dictionary order, then what is the 50th word ?
what is the length BC ? (a) ZAABR (b) ZBAAR
(a) V2 unit (b) ¥3 unit (c) ZBRAA (d) ZAARB
() V5 unit (d) 5 unit 112. Let 4, be {1,2,3}. What is the number of equations of
101. The bisector of the acute angle between the straight lines the form ax? + bx +1=0 having real roots ?
3x-4y-3=0and 12x+5y +6=0 passes through which @1 () 2
one of the following points ? ©5 (d)3
8 ((3':7? 8)) ((:?;'i)) 13. If px2+qx+rf=p(x-a)(x-[3), and p3+pq+r=0;p,q
’ ' and r being real numbers, then which of the following
102. If the extremities of a diameter of a circle are (0, 0) and is not possible ?
* (@, 1/a), then the circle passes through which one of (@) a=B=p () axp=p
the following points ? ©a=B=p dBza=p
(a) @ 1/8) () &, 1) 1. 1 hati
© @) @ (U, a) 114. If Ixl < > what is the value of
103, What is the length of the intercept made on the x-axis 1 Tnm+d1[ x '
by the circle x4y + 2gx+ 2y +¢=0? - 1*"[1'_7]+[‘%rl][m Frn e T
N 7_5 ) 74
@52 &) 6 ] -
© 2V -2 @ 2V -0 Lol LY
104, Which one of the following points lies outside the ellipse () [T—_x} d (1—_;]
W)+ (1) =12 N 20
@) @ 0) () (0, ) 115. What are the last two digits of the number 9" ?
(©) ~4,0) () (@,b) (@) 19 (b) 21 ()41 (d)01
105. What is the locus of the point of intersection of the 116. For any positive integer n, if 4" - 3n is divided by 9,
p p 8 y
straight lines (x/) + (y/b) =m and (x/&) - W/b=1m? then what is the remainder ?
(a) Circle (b) Parabola. ()8 ®) 6 () 4 @1
(c) Ellipse (d) Hyperbola " 117. In how many ways can 7 persons stand in the form of
106. If the direction ratios of the normal to a plane are aring? ,
<l m,n> and the length of the normal is p, then what (P72 ®)7!
is the sum of intercepts cut-off by the plane from the ©6! @ 7!
coordinate axes? : ) 2
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18. The sum of the first (2p+1) terms of an AP is  119. Which one of the following is an infinite set ?

{(p+1)- (2 +1)). Which one of the following inferences (a) The set of human beings on the earth

can be drawn ? ~ (b) The set of water drops in a glass of water

a) The (p s term of the AP is 2p+1) (d) %e set Off trﬁes in a forest

(b)The 2p+1 termoftheAPis(2p+1) (4) The et of pnmes )

(c) The (2p +1 térm of the AP is (p+1) 120 g)hgt:; the value of 0 2+(%)2 % )

(d) The (p+1) f“ term of the AP is (p+1) © 023 0B
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Answer: Mathematics Il

1 (a) 51 (a) 101 | (c)
2 (a) 52 (d) 102 | (d)
3 (a) 53 (d) 103 | (d)
4 (a) 54 (a) 104 | (d)
5 (c) 55 (c) 105 | (d)
6 (a) 56 (d) 106 | (a)
7 (a) 57 (d) 107 | (c)
8 (c) 58 (a) 108 | (c)
9 (c) 59 (d) 109 | (b)
10 (c) 60 (c) 110 | (c)
11 (c) 61 (c) 111 (d)
12 (c) 62 (d) 112 | (d)
13 (d) 63 (c) 113 | (a)
14 (b) 64 (b) 114 | (a)
15 (c) 65 (b) 115 | (d)
16 (b) 66 (d) 116 | (d)
17 (c) 67 (d) 117 | (c)
18 (c) 68 (c) 118 | (d)
19 (c) 69 (a) 119 | (d)

20 (d) 70 (d) 120 | (b)

21 (d) 71 (a)

22 (d) 72 (b)

23 (b) 73 (d)

24 (b) 74 (c)

25 (c) 75 (a)

26 (a) 76 (b)

27 (a) 77 (d)

28 (c) 78 (c)

29 (b) 79 (c)

30 | (b) 80 | (b)

31 (a) 81 (a)

32 (b) 82 (d)

33 (a) 83 (c)

34 (a) 84 (c)

35 (b) 85 (c)

36 (b) 86 (a)

37 (c) 87 (b)

38 (c) 88 (c)
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39 (a) 89 (d)
40 (c) 90 (b)
41 (c) 91 (c)
42 (c) 92 (d)
43 (c) 93 (a)
44 | (b) 94 (c)
45 (a) 95 (a)
46 (c) 96 (b)
47 (d) 97 (a)
48 (c) 98 (d)
49 (c) 99 (b)
50 | (a) 100 | (c)
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